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1. Vocabulary and Structure
A. Choose the phrase of 1, 2, 3, or 4 which best completes the items.

16. This machine will increase ............. to a large extent.
1. product
2. productive
< 3. production

ﬂ 4. produce

17. She ............ for an hour now. I hope she will soon finish
her lecture.
1. is speaking
2. has spoken
3. has been speaking
4. spoke

18.Since Tehran, the capital of Iran, is getting too crowded, the
government intends not to .......... the economical sections
in the capital.
1. socialize
2. economize
3. centralize
4. civilize

19.Can you smell something ................. ?
1. burns
2. burned
3. is burning
4. burning

20.People who ............ against the law must be punished.
1. offend
2. offer
3. predict
4. dislike

21.1t takes a lot of a teacher’s time to ........... SO many papers
regularly, so she doesn’t give lots of tests to her students.
1. write
2. correct
3. deliver
4. press




22.Did you watch the football match ......... TV last night ?
1. at
2. from
3. through
4. on

23 His knowledge about the new project was very ............ , SO
he could not finish it properly.
1. limited
2. edited
3. fitted
4. permitted

24.Underdeveloped countries consume more than they
produce. The word “ consume “ here means:
1. save
2. crash
3. use
4. economize

25. A: Why were you so late this morning?
B:1......... the bus and had to walk.

1. caught

2. seized

3. left

4. missed

26. A: who does your grandfather live with?

B: No one . He lives ......... alone in that big house you’ve
just

seen.

1.absolutely

2. appropriately

3. precisely

4. lonely

27. He couldn’t see the movie because there was a large
........... of people standing in line in front of the cinema, and
he couldn’t buy a ticket.

1. body

2. mass

3. crowd

4. whole




28.0il ............... if it is poured on water.
1. sinks
2. floats
3. suspends
4. sets

29. People should respect each other’s ........ in a civlized
society.

1.habits

2. choice

3. behavior

4. rights

30. She is a theater player, she must never ........ her lines in a
play.
1. forget
2. memorize
3. conduct
4. remember

31. If the police see you drive so fast, you’ll getinto ..............
1. problem
2. trouble
3. puzzle
4. punishment

II. Reading Comprehension
B: Read the text carefully . Then choose the phrase of 1, 2, 3, or
4 which best completes the items.

In the winter of 1972, an airplane hit the side of a mountain in
Switzerland at about 2.00 in the morning. The people in the nearby
town thought somebody was still alive because they could see a
small fire. So when the sun came up in the morning the men in the
town began to climb up the mountain. Not all of men were good
climbers. Some didn’t have climbing boots and couldn’t climb
easily on the icy part of the mountain. So they returned to the
town. From the town the people could not see the fire any more
because the mountain was now behind heavy snow clouds . Soon
it began to snow heavily in the town, and the women began to
worry about the men on the mountain. The men finally got to the
top of the mountain and found the pilot of the plane . He had a
broken leg and was sitting beside the fire , waiting for help to
come.




32. It’s understood from the passage that it was ......... when the
airplane hit the mountain.
1. cloudy
2. dark
3. snowy
4. sunny

33. When the men climbed to the top of the mountain,
theyfound the pilot ....................

1. alive

2. asleep

3. dying

4. dead

34. The people couldn’t have saved the pilot if he hadn’t
1. broken his leg
2. been waiting
3. been awake
4. built a fire

35 . The men climbed up the mountain as soon as ........
1. snowy clouds covered the mountain
2. some of the climbers returned to the town
3. the sun rose and the day began
4. the women in the town began to worry
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